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Fx + Ff = 0, Fy + Ny = 0, Ny > 0,
∣∣∣∣Ff

N

∣∣∣∣ � f.

�� �84<  ������4= 4 �������68� 9
 �!� 5��9 6��7 BD4�  6�!�4� 68�845�6"!3! ����!��64�C∣∣∣∣Fx

Fy

∣∣∣∣ � f, Fy < 0. 2���:

�!68��49 ��7�5 �
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��!3!: 7�4;��4� �! 6���4�
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� 7�� �� ��I��4� 8��E B86� 7!�!��48��A�
� 7!� D��4� 4 34�!8��
�

� ! " � � � 8 � � A 6 8 � !� �!"���8��A68�! 8�!��9
 !6 D�68����86� ����E!�!9 ����45�
<
6� 5��� E��!8�
��
< 7�4;��4= 2"�" ��4 t < 0, 8�" 4 ��4 t > 0 : 4 ���!6��768����!= ��!���G
"!= 4 ����4� �9!684� M��5��� ��669!8�49� 58! 9!;�8 E
8A ��4 t > 0. TE!���549 (xc, yc) W
"!!�74��8
 K��8�� 9�66 C, ��45�9 E�� !3���45��4� !ED�!684� E 7�9 6548�8A xc � 0, yc � 0;
ρ W K��8���A�
= ��74 6 4���K44 8���F m = 1 W 9�66� 8����

�� U!5"� O �� 6"!�A�48� 8! �68A a0 = 0, �! ε �= 0 W  3�!�!�  6"!���4� 8���� ��49����
8�!��9 9!9��8!� !8�!648��A�! 8!5"4 O 2Z  5�8!9 8!3!� 58! 6"!�!68A K��8�� 9�66 C ����� 	:�
�!� 549

(ρ2 + x2
c + y2

c ) ε = 0 ⇒ ε = 0.

H8! ��!84�!��54�� 8! �68A 8�"!3! 7�4;��4� E
8A �� 9!;�8�

%� U!5"� O 6"!�A�48� 8! �68A a0 �= 0, ��45�9 a0y = 0 2��8 !8�
��:� a0x �= 0. ��4�49��
�� ε  3�!�!�  6"!���4� 8���� ���4I�9  ������4� 74��94"4 2��4 � ���
< 6"!�!68�<Q:C

a0x − εyc = Fx − fNσ,

εxc = Fy + N,

(ρ2 + x2
c + y2

c ) ε − a0xyc = 0;
N = Ny > 0, σ = sgn a0x.

2���:

U��8A�  ������4� 4� 2���: �68A  ������4� "4��845�6"!3! 9!9��8� !8�!648��A�! 8!5"4 O,
���46���!� 6  5�8!9 8!3!� 58! 6"!�!68A 8!5"4 C ����� � �B�
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ε =
1
Δ

(
Fx + fσFy

)
,

N =
1
Δ

(
xcFx − ρ2 + x2

c

yc
Fy

)
,

a0x =
ρ2 + x2

c + y2
c

yc
ε,

2���:

37� Δ =
ρ2 + x2

c + fσxcyc

yc
, σ = sgn a0x = sgn ε. ����E4��� 7�� ���4��8� 7�� σ (σ = +1 4�4

σ = −1), 9
 �!� 549 6��7 BD4= ��� �A8�8 269� ?S@:� �6�4 �
�!����
 �������68��

0 <
ρ2 + x2

c

xcyc
< f, −f <

Fx

|Fy |
< −ρ2 + x2

c

xcyc
< 0, 2��[:

8! 4� 6!68!��4� 6 � ���
94 6"!�!68�94 2��4 t = 0 : �!�9!;�! 2��4 t > 0 : 7�4;��4� 6 ��� G
���
94 4 "!��5�
94  6"!���4�94 8!5�" 8���� � 49���!� 6! 6"!�A;��4�9 8!5"4 "!�8�"8� O
����! 2 a0x < 0 : 4 �!�!�!8!9 8��� �! 5�6!�!= 68���"� 2 ε < 0 :� \6�!� 58! 7� 34< 7�4;��4=
2��4 t > 0 :� "�!9� �!"!�� E
8A �� 9!;�8�

�!�!;49 8����A� 58! 2��[: 2� 8�";� 4 2���:: �
�!����
� 4 ��669!8�49 ����45�
� �47

�������� 2��4 t < 0 : 7�4;��4= �! 6���4� � ��� �A8�8� "!8!�
< 8��! 9!3�! ��4=84 � ��669�8G
�4���9!� 6!68!��4� 6 �� ���
941 6"!�!68�94�

�!�9!;�
 [ 84�� 8�"4< 46<!7�
< 7�4;��4=C
�: 7�4;��4� 6! 6"!�A;��4�9 8!5"4 O �����! 2 v0x = 0, v̇0x = a0x < 0 :F
�: 7�4;��4� 6! 6"!�A;��4�9 8!5"4 O ����! 2 v0x = 0, v̇0x = a0x > 0 :F
�: 7�4;��4� 5468!3! "�5��4� 2 v0x = 0, v̇0x = a0x = 0 :F
[: 6!68!��4� 5468!3! �!"!� 2����!��64�:�
T89�849� 58! �! �6�< �84< 7�4;��4�< ���7�!��3��86� E��!8�
��!68A� 8! �68A �!�!;4G

8��A�!68A �!�9��A�!= ���"K44� � �6� J �"K44 4 4< ��!4��!7�
� ��669�8�4��B86� � 9!9��8
t = −0.

�!"�;�9� 58! 7�4;��4� �: �� ����4� �86�� ��=68�48��A�!� �
�46
��� 7�� �8!3! 6� 5��
��4 t < 0  ������4� 74��94"4� 9
 �!� 549� �! ����!344 6 2���:� 6��7 BD4� ��I��4�C

N =
Fx(xcyc) − Fy(ρ2 + x2

c)
ρ2 + x2

c + fxcyc
,

a0x = v̇0x =
ρ2 + x2

c + y2
c

ρ2 + x2
c + fxcyc

(Fx + fFy).

� 64� �������68� 2���: 4 2��[: 49��9

Fx(xcyc) − Fy(ρ2 + x2
c) = |Fy|

(
ρ2 + x2

c +
Fx

|Fy|
xcyc

)
< 0,

6��7!��8��A�!� N < 0.
����!345�! �!"�;�9� 58! �� ����4� �86� 7�4;��4� �:� ��� ��3! 49��9

N =
Fx(xcyc) − Fy(ρ2 + x2

c)
ρ2 + x2

c − fxcyc

a0x = v̇0x =
ρ2 + x2

c + y2
c

ρ2 + x2
c − fxcyc

(Fx − fFy).

� 64� �������68� 2���: 4 2��[: �7�6A 9
 �!� 549 a0x < 0. �! 7�� ��669�8�4���9!3!
7�4;��4� 7!�;�! E
8A a0x > 0, 8! �68A ��!84�!��54��
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 �!� 549� ��49���� 8�!��9 9!9��8!� !8�!648��A�! 8!5G
"4 O, ε = 0, 8! �68A �!949! 6"!�!68�= � ��669�8�4���9!9 6!68!��44 !E� ��B86� 8�";� 4
 6"!���4� �6�< 8!5�" 8���� U!37� E 7�9 49�8A 6!68!��4� ����!��64� 29!;�8 E
8A� 4 �� 68!=G
54�!3!:� � 7��A��=I�� 466��7!���4� 7�4;��4� 8��E �8 7!�!��48��A�!= 4�J!�9�K44 ! 64��<
Fx, Fy 4 ����9�8��< 8����

U�"49 !E���!9� 6�����7�4�!68A 8�!��9
 ��4 �
�!����44 �������68� 2��[:  68��!������ �6G
�4  6�!�4� 2��[: ��� I�B86�� 8! 465����8 7!�!��48��A�!� 2��4 t > 0 : 7�4;��4�� 8! �68A ��4
t > 0 9!;�8 E
8A 8!�A"! �!"!=� L�8! �!����B86� 7!�!��48��A�
� E��!8�
��
� 46<!7�
� 7�4G
;��4� �! 6���4 2��4 t < 0 :� "!8!�
� ��4 t � 0 �����I�B86� 6!68!��4�9 �!"!� 2!68��!�"�
8���:� >�669!8���4� 6!!8��868� BD4< 46<!7�
< 7�4;��4= �7�6A ����!345�!  ;� ��669!8���G
�
9 6� 5��9� 4 9
 �3! !� 6"��9�

U�"49 !E���!9� 8�!��9� �!��!68AB 7!"������ �
����!345��� ��7�5� ! 7�4;��44 ��4 ��!4��!�A�
< ��5��A�
<  6�!�4�< 4 ��!4��!�A�!=

��!6"!= 6468�9� �"84��
< 64� ��669�8�4����6A � ��E!8� ?�@�

� 5� �+)+3+ �6�& � 7�!! &8 9:�* ;<=

]484� �9 �!68��!�" ��7�54C �� � � >�669!8�49 7�� 9�8��4��A�
� 8!5"4 M 4 M1 9�66

�� 6������
� ����6!9
9 8���7
9 68��;��9 MM1 7�4�
 r � U!5"� M 6"!�A�48 6 8���4�9 �!
���!7�4;�!= 3!�4�!�8��A�!= ���9!= Ox � 6 "!8!�!= !�� �� 9!;�8 6!=84� 4 6468�9� MM1 7�4G
;�86� � ���84"��A�!= ��!6"!684 xOy, ��!<!7�D�= 5���� Ox. ��=84 7�4;��4�� ���7�!��3���
58! 6468�9� ��<!7486� �!7 7�=68�4�9 8!�A"! 64�
 8�;�684 � � � 1 ?[� 6� ��R� U� �@�

� 68A f W "!�JJ4K4��8 8���4��
−→
N W �!�9��A��� ���"K4� 6���4� "!8!��� ����������

��������A�! !64 Oy 4 9!;�8 49�8A �BE!= ���" 2� 64� 7� <68!�!��!684 6���4:� F f W 64��
8���4�� ������������ �7!�A !64 Ox, x W �E6K466� 8!5"4 M, θ W  3!� 9�;7 68��;��9 MM1

4 !6AB Ox, 6468�9� "!!�74��8 Oxy �
E���� 8�"� 58! !6A Oy ���������� ���84"��A�! ��4��
� !6A Ox W �! 6���4�

M!68��49  ������4� 74��94"4C

2ẍ + r(cos θ).. = Ff , r(sin θ).. = 2g + N, 2���:

r2

2
θ̈ =

r

2
(Ff sin θ − N cos θ). 2���:

U�" "�" 6���A  7��;4��BD��� 8! 9
 �� ��"��7
���9 !3���45��4= �� ���" N � 7�� 64�

6 <!3! 8���4� Ff ��4�49��9 J!�9 � 

Ff = −fNσ, σ = sgn (ẋN), ẋ �= 0, N �= 0. 2���:

>�I��  ������4� 2���: W 2���: !8�!648��A�! N, θ̈, ẍ, 9
 �!� 549 28�" ;�� "�" 4  ������:

DN = −(2g + rθ̇2 sin θ),

Drθ̈ = (2g + rθ̇2 sin θ)(cos θ + σf sin θ),

Dẍ = rθ̇2(cos θ + σf sin θ) + g
(
cos θ sin θ + σf(1 + sin2 θ)

)
,

2��[:

37� D = 1 + cos2 θ + σf sin θ cos θ.
�����7!"6��A�
�1 ��5��A�
�  6�!�4�� !�46���
� ������9� �!� 5�86� 8!37�� "!37� ��4

t = 0 �
�!����86� �������68�!

D0 = 1 + cos2 θ0 − f sin θ0 cos θ0 < 0, 2���:

���7�!��3��� 58! θ0 ∈ (0, π) 4� ����!3!  ������4� 6468�9
 2��[: 49��9

N(0)
(
1 + cos2 θ0 + f sin θ0 cos θ0 /%+

(
ẋ(0)N(0)

))
< 0. 2��S:
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�� � 68A ẋ0 > 0. U!37� �6�4 N(0) > 0, 8! 4� 2��S: �!� 549 N(0) < 0 W ��!84�!��54�� �6�4
N(0) < 0, 8! 4� 2��S: 6  5�8!9 2���: �!� 5��9 N(0) > 0, W !��8A ��!84�!��54�Q

%� � 68A ẋ0 < 0. U!37� 6468�9� 2��[: 49��8 ����!84�!��54�!� ��I��4�� "�" ��4 N(0) < 0,
8�" 4 ��4 N(0) > 0, 8! �68A 7�� ��I��4� 2��!7�!���5�!68A:�

�� !6�!���44 ��4��7���
< ��66 ;7��4= 7����86� �
�!7 �4E! !E !86 868�44 7�4;��4� 27��
t > 0 : ��4 �
�!����44 2���: 4 ẋ(0) > 0, �4E! ! 7� ���5�!684 7�4;��4� 27�� t > 0 : ��4 �
�!�G
���44 2���: 4 ẋ(0) < 0. T7��"! 466��7!���4� 46<!7�
< 2��4 t < 0 : 7�4;��4=� "!8!�!� 9!3�4
E
 ��4��684 6468�9 � ��669!8����
� ��5��A�
�  6�!�4�� ��4�!748 " 6��7 BD�9 ��� �A8�8 �
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�
�	��
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����
���� ������
�����	 2�������� ������ ��������� �
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	���	 �����
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 %�������' 2��� t > 0 :� �� ���� ��
���
������� ����� M 
��� �� 
������� 
��� �� ������ ������� �
	���

�: #�
� ����
����
� 2���: �� 
���
����� �� ���� D0 > 0, �� 
 ��
� 2��[: 
����� 2���
θ0 ∈ (0, π) : ����� N < 0, �� ���� �
������ ���������� ���� ��� ����� M ���
���� ��

������ ������� �
	��� *���� ��� ẋ(0) �= 0 �
������ 2��� t > 0 : ���������� ���������� �

������� %���������
����' �������� �� 
���������

3: #�
� ẋ(0) = 0, �� ������������ 
��� �������� ����� 
�������� ������ !�� ������

����� ��������� � �������

	���	 ��
��&���� ��� ��� ��� !�� ���
��� 
 ������ ?�@�
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�4 5�6845�!  "����
 � "�4845�G
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 ����8A6� ��� �A8�8!9
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 !6 D�68����4�
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<1 ��5��A�
<  6�!�4= 2���7��4� 34E"4< 4  �� 34< �48�=� 7!�!��48��A�
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� �!8!9 �������! 465���B8 4 8���:� \6�!� 58! �84 6�!6!E
 8!�A"! ��8 I��
��B8
46<!7� B� ������
����� �!68��!�" ��7�54 ! ����!��644 4�4 7�4;��44 8���7!3! 8����

� ��"�B5��44� ��4��7�9 �
6"��
���4� �� ������ 8! �!�!7 ��669!8����!3! ��49���C
�� � � >���45�
� ��8!�
 �
8��46A  68���48A �84 ��!84�!��54�� 7!� 6"��� 58! 6���4 49�B8 ��G
�!� 4 ��4�49�� � ��65�8  �� 3!68A� �! "!37� f 7!68�8!5�! ���4"!� 7�4;��4�� �!� 5���
�
��4 ����
< ��5��A�
<  6�!�4�<� 9!3 8 "�" ��� ���46�8A !8 ���7�!�!;��4=� 67�����
< ! <�G
��"8��� 6����=� 4 !8 ���!��� "!8!�
9 !�4 !E��7�B8� � 8! ���9� "�" ��4 f 7!68�8!5�! 9��!9
�8!= 8� 7�!684 �� �!��4"��8 � � � 1 ?[� Z� ��	@�

�!;�! 6!3��648A6� 6 �849 �
6"��
���4�9 � 8!9� 58! "�6��86�  �� 3!684� T7��"! ���!� �
7� <68!�!���= 6���4 W 6!���I���! �68�68����!� ���7�!�!;��4�� 8�" "�" 8� 7�! ���768��48A
6�E� 9�<��45�6"!�  68�!=68�!� "!8!�!� � 6!���I���!= 8!5�!684 ����4� �8 6���A � �47� �����G
68��� ��!9� 8!3!� �6� ��4��7���
� ��66 ;7��4� 7�� �8!3! ��49��� ��8� 7�! ������684 8�";�
4 �� 8!8 6� 5�=� "!37� 6���A � 8!5"� M �����86� !7�!68!�!���=�

� ;� �� ")� ( &�* �!#"+-.  �8 � / "�0��+(,- !&��'��(2 )�,48 ���#4# (�3'+4#
9>�'+4 1'+?* �4� :@<=

>�669!8�49 ��7�5 ! ����!��644 24 �!�9!;�!9 7�4;��44: 8���7!3! 8��� 84�� �6"�9�=G
"41� "!8!�!� !�4���86� 8!5"�94 A 4 B ! I��!<!��8 B 3!�4�!�8��A� B ��!6"!68A 6 "!�JG



X� O��� >!���E��8

�������� �		
� �
�� �

J4K4��8!9 8���4� f. �� 8��! 7�=68� �8 64�� 8�;�684� ��4�!;����� � �3! K��8�� 9�66 G 4
��!4��!�A��� ��!6"�� 6468�9� 64�� ��6�!�!;����� � !�!��!= ��!6"!684�

�
E���9 ���9! 3!�A� B 6468�9 "!!�74��8 Axyz 6 ��5��!9 � 8!5"� !�!�
 A, ��45�9
Ax ���������� �! !8���" AB, 7�4�� "!8!�!3! AB = 2l, � !6A Az W ��!84� 64�
 8�;�684
−→g . U�"49 !E���!9� ��!6"!68A Axy �����86� !�!��!= ��!6"!68AB� � 68A K��8� 9�66 G 49��8
"!!�74��8


xG = l1, yG = 0, zG = h > 0,
(
l1 ∈ (0, 2l)

)
.

�6�!�A� � !E!���5��4� 68�8A4 ?S@� ��49�9� 58! ��!�"K44 3����!3! ��"8!�� ��4�!;���!=

��!6"!= 6468�9
 64� �� !64 x 4 y 6 8AC Q1, Q2, � Q3 =
Mc

l
, 37� Mc W 3����
= 9!9��8 �8!=

6468�9
 64� !8�!648��A�! 8!5"4 C W 6���74�
 !8���"� AB.
� 68A � ��669�8�4���9
= 9!9��8 ���9��4 t = 0 6"!�!684 �6�< 8!5�" 8��� ����
 � �B�

U��E �86� !���7��48A 7�4;��4� 8��� ��4 t > 0, � 5�68�!684  68��!�48A  6�!�4� �3! ����!��G
64��

TE!���549 5���� NA, NB W �!�9��A�
� ���"K44� FA, FB W 64�
 8���4� � 8!5"�< A 4
B 6!!8��868����!� ��45�9 NA, NB ��������A�
 !64 Az, FA, FB ��;�8 � !�!��!= ��!6"!G
684 Axy.

>�669�8�4���9 �������
��� 7�4;��4� 8��� 4 �!��3��9 NA = NAz > 0, NB = NBz > 0,
� 64�
 6 <!3! 8���4� � 8!5"�< A 4 B �!754��B86� !E
5�
9 6!!8�!I��4�9 � �!�� 7��
64� 8���4� �!"!� 4�4 6"!�A;��4�� � 7��A��=I�9 46�!�A� �9 8��94� �� ���!� 6!68!��4�1 7��
��5��A�
<  6�!�4= 6 � ���
94 6"!�!68�94 �6�< 8!5�" 8����

� 68A m = 1 W 9�66� 8���� � 9�8�4K� 8���!�� 4���K44 8��� � !6�< Gx′y′z′ 2��������A�
<
6!!8��868� BD49 !6�9 Axyz : �����86� 74�3!���A�!=C

J = diag {Jx, Jy , Jz}.

>�669!8�49 "�"!�G�4E! ��5��A�!� E��!8�
��!� 7�4;��4� 8��� 4� � ���!3! 6!68!��4�� TE!G
���5��9 w1, w2 W ��!�"K44  6"!���4= 8!5�" A, B 6!!8��868����! �� !6A Ay, w3 W !ED B
��!�"K4B  6"!���4= 8!5�" A, B �� !6A Ax 2!ED B� 8�" "�" 7�4�� !8���"� AB �� 9����86�:�
ε = (εx, εy, εz)T W ��"8!�  3�!�!3!  6"!���4� 8��� � 6468�9� Axyz. � 64� 8�!��9 "4��9�84"4
8���7!3! 8��� 4 E��!8�
��!684 7�4;��4� 49��9 6!!8�!I��4�

εy = 0, εz =
w2 − w1

2l
.

U!37� 7��  6"!���4� K��8�� 9�66 G �!� 549

aGx = w3, aGy = w1 +
l1
2l

(w2 − w1) − εxh, aGz = 0,

 ������4� 7�� 7�4;��4� K��8�� 9�66 G 49�B8 �47

w3 = FAx + FBx + Q1,

w1 +
l1
2l

(w2 − w1) − εxh = FAy + FBy + Q2,

0 = NA + NB − g.

2[��:

�548
���� 58! 6"!�!68A K��8�� 9�66 G ����� � �B� ���4I�9 8�4  ������4� !E 4�9����44
"4��845�6"!3! 9!9��8� � 6468�9� "!!�74��8 Cx′′y′′z′′ 2!64 x′′, y′′, z′′ ��������A�
 !6�9 x,
y, z :� C W 6���74�� !8���"� AB :

Jxεx −
(

w1 +
l1
2l

(
w2 − w1

)
− εxh

)
h = 0,

hw3 = (NA − NB)l + g(l1 − l),

Jz
w2 − w1

2l2
+ aGy

l1 − l

l
= FBy − FAy + Q3.

2[��:



� �!68��!�"� ��7�5 � 74��94"� X�

�������� �		
� �
�� �

��!9� 8!3!� � 2[��: 4 2[��: 9
 �!��3��9 7�� 64� 8���4�C

FAx = −fNA
w3√

w2
1 + w2

3

,

FAy = −fNA
w1√

w2
1 + w2

3

, ��4 w2
1 + w2

3 �= 0,

F 2
Ax + F 2

Ay � f2N2
A, ��4 w2

1 + w2
3 = 0,

FBx = −fNB
w3√

w2
2 + w2

3

,

FBy = −fNB
w2√

w2
2 + w2

3

, ��4 w2
2 + w2

3 �= 0,

F 2
Bx + F 2

By � f2N2
B , ��4 w2

2 + w2
3 = 0.

2[��:

T���7��49 6��5��� ��!� ��68!�1� 8! �68A  6�!�4� 68�845�6"!3! ����!��64�� L�7�5� �7�6A
6��7 BD��C "�"49  6�!�4�9 7!�;�
  7!���8�!��8A Qj (j = 1, 3) � 58!E
  ������4� 2[��:�
2[��: 4 6!!8�!I��4� 2[��: 49��4 ��I��4� 7�� ��4���68�
< FAx, FAy, FBx, FBy , NA, NB

��4 wj = 0 (j = 1, 3), εx = 0.
��4  "�����
<  6�!�4�< 49��9 4� 2[��: 4 2[��: 6��7 BD4� �����68��C

NA =
g

2
2l − l1

l
, NB =

g

2
l1
l
,

FAy =
1
2
(Q3 − Q2), FBy = −1

2
(Q2 + Q3),

FBx = −Q1 − FAx.

�6�!�A� � �!� 5���
� 6!!8�!I��4� 4 �������68�� 4� 2[��: 7�� 64� 8���4� �!"!�� �!� 549

−
√

f2N2
A − 1

4
(Q3 − Q2)2 � FAx �

√
f2N2

A − 1
4
(Q3 − Q2)2,

−Q1 −
√

f2N2
B − 1

4
(Q2 + Q3)2 � FAx � −Q1 +

√
f2N2

B − 1
4
(Q2 + Q3)2.

��� 8!3! 58!E
 �!� 5���
� 4�8�����
 7�� 4�9����4� FAx 49��4 ��� 68!� ����6�5��4��
��!E<!749! 4 7!68�8!5�! �
�!����4� 7� < �������68�C

−Q1 −
√

f2N2
B − 1

4
(Q2 + Q3)2 �

√
f2N2

A − 1
4
(Q3 − Q2)2,

−
√

f2N2
A − 1

4
(Q3 − Q2)2 � −Q1 +

√
f2N2

B − 1
4
(Q2 + Q3)2,

"!8!�
� �"�4�����8�
 6��7 BD�9 �������68� C

|Q1| �
√

f2N2
A − 1

4
(Q3 − Q2)2 +

√
f2N2

B − 1
4
(Q2 + Q3)2. 2[�[:

�������68�! 2[�[: 6!�9�68�! 6 !5��47�
94 �������68��94C

|Q3 − Q2| � 2fNA, |Q2 + Q3| � 2fNB 2[��:

4 !���7���B8 ��!� ��68!�1� � 6!!8�!I��4�< 2[�[:� 2[��: 9
 �!��3��9

NA =
g

2
2l − l1

l
, NB =

g

2
l1
l
.
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L��" �����68�� � 2[�[: !���7����8 3���4K ��!�
 ��68!�1 � ��!68���68�� ����9�8�!�
{Q1, Q2, Q3} � +������� ��� ��
������� ������&���� �� ��
������ � �������� %��
���� ���

���	'� ���
������� 
 ������ ?S@� 37� �8� 3���4K� 7��86�  ������4�9

|Q3| =
√

f2N2
A − Q2

1 +
√

f2N2
B − Q2

2.

����� E 7�9 ��I�8A 74��945�6"4�  ������4� 2[��: 4 2[��: ��4  6�!�4�< 2[��: � ���7�!�!G
;��44� 58! 6"!�A��8 !E� 8!5"4 A 4 B, 8! �68A

w2
1 + w3

3 �= 0, w2
2 + w2

3 �= 0.

U!37�  ������4� 2[��:� 2[��: 6  6�!�4�94 2[��: ���768����B8 6!E!= �	  ������4= 7�� !���G
7����4� �	 ��4���68�
< {w1, w2, w3, εx, NA, NB , FAx, FAy, FBx, FBy}, ��45�9 7!�;�

6!E�B7�8A6�  6�!�4� NA > 0, NB > 0.

���7�9 �!�
� ����9���
� u1, u2, α1, α2 �! J!�9 ��9

w1 = u1 sin α1, w2 = u2 sin α2, w3 = u1 cos α1 = u2 cos α2.

U!37� �!� 549 6��7 BD4� �����68��C

u1 cos α1 + fNA cos α1 + fNB cos α2 = Q1,

sin α1

(
ε1u1

(
1 − l1

2l

)
+ fNA

)
+ sinα2

(
ε1u2

l1
2l

+ fNB

)
= Q2,

sin α1

(
−ε2

1
2
u1 − fNA

l1
l

)
+ sin α2

(
ε2

1
2
u2 + fNB

2l − l1
l

)
= Q3 − Q2

l1 − l

l
,

u1 cos α1 = u2 cos α2,

NA =
1
2

(
g
2l − l1

l
+ βu1 cos α1

)
,

NB =
1
2

(
g
l1
l
− βu1 cos α1

)
,

2[�S:

37� ε1 =
Jx

Jx + h2
, ε2 =

Jz

l2
, β =

h

l
.

�������4� 2[�S: ��!E<!749! ��I�8A !8�!648��A�! S ��4���68�
< {u1 u2, α1, α2, NA,
NB}, ��45�9 u1 > 0, u2 > 0, NA > 0, NB > 0, αj ∈ [0, 2π], j = 1, 2.

T89�849� 58!  ������4� 2[�S: ����B86� !���7���BD494 7�� �6�< E��!8�
��
<� ���
��	�
��� 
 �
�� ������ A � B, ��I��4=� �
<!7�D4< 4� � ���!3! 6!68!��4�� M��7 � !6�!��!9 
��4�K4� � 9
 7!�;�
 8�";� ��669!8��8A E��!8�
��
� 7�4;��4�� �<!7�D4� � � ���!� 6!68!�G
�4� 28! �68A ��4 t < 0 :� �6�4 8�"4� 7�4;��4� !6 D�68���B86� �� ���
������� 
 �
�� ������

A � B, 8! !�4 8�";� !���7���B86�  ������4�94 2[�S:� 37� ��7! ��9��48A f �� (−f), 8�"
"�" 64�
 8���4� FA 4 FB 7�� 8�"4< 7�4;��4= ���������
 �7!�A 26!���������
: ��"8!�!�
 6"!���4= 6!!8��868� BD4< 8!5�"�

�!"�;�9� "�" ��49���8A  ������4� 2[�S: 7�� ����� ������ ��������� 8! �68A ��4 h → 0
28!37� 4 β → 0 :� V 7�9 6548�8A� 58! �8! W ����6!9
= 68��;��A 7�4�
 2l 6 7� 9� 8!5�5�
94
9�66�94 m1, m2 �� "!�K�< (m1 + m2 = 1), "!8!�
= ��4;49��86� " !�!��!= ��!6"!684
�!6��768�!9 64�
 8�;�684� � �8!9 6� 5�� 49��9C l1 = 2m2l, Jz = m1(2m2l)2 + m2(2m1l)2 =
4m1m2l

2, NA = m1g, NB = m2g, ε1 = 1, ε2 = 4m1m2.
U!37� 4� 2[�S: �!� 5��9

sin α1(m1u1 + fNA) + sin α2(m2u2 + fNB) = Q2,

sin α1(−2m1m2u1−fNA2m2) + sin α2(2m1m2u2 + fNB2m1) =
= Q3 − Q2(2m2 − 1).

2[�R:



� �!68��!�"� ��7�5 � 74��94"� X�

�������� �		
� �
�� �

�� �84<  ������4= �!� 5��9 �����68�!

sinα1(−m1u1 − fNA) + sinα2(m2u2 + fNB) = Q3. 2[�X:

H84  ������4� 9!;�! �!� 548A 4 ���!6��768����!� ��669�8�4��� 8�4  ������4� ��!6"!3!
7�4;��4� 68��;�� 6 9�66�94

w3 = Q1 + FAx + FBx,

m1w1 + m2w2 = Q2 + FAy + FBy,

m2w2 − m1w1 = Q3 + FBy − FAy.

�6�!�A� � ����9���
� uj, αj (j = 1, 2), !86B7� �!� 549

u1 cos α1 = u2 cos α2 = Q1 − fNA cos α1 − fNB cos α2,

m1u1 sin α1 + m2u2 sin α2 = Q2 − fNA sin α1 − fNB sin α2,

m2u2 sin α2 − m1u1 sin α1 = Q3 − fNB sin α2 + fNA sin α1,

�!6��7�4� 7��  ������4� 7�B8 6!!8��868����! 2[�R:� 2[�X:� � 46�!�A� � ����!� 6!!8�!I��4�� 9

�!� 549

cos α1 =
Q1u2

Δ
, cos α2 =

Q1u1

Δ
, Δ = u1u2 + f(NAu2 + NBu1). 2[�
:

�6"�B5�� α1, α2 4� 6!!8�!I��4= 2[�R:W2[�
:� 49��9 6��7 BD4� 7��  ������4�C

Q2
1u

2
2

Δ2
+

a2

(m1u1 + fNA)2
= 1,

Q2
1u

2
1

Δ2
+

b2

(m2u2 + fNB)2
= 1,

2[��	:

37� a =
Q2 − Q3

2
, b =

Q2 + Q3

2
.

�6�!�A� � 8!;7�68�!

Δ = u2(m1u1 + fNA) + u1(m2u2 + fNB),

4� 2[��	: �!� 5��9 6!!8�!I��4�

|Q1| =
√

(m1u1 + fNA)2 − a2 +
√

(m2u2 + fNB)2 − b2. 2[���:

T86B7� 9
 �4749� 58! ��4 �
�!����44 �������68�� 2[�[: 7�� 68�845�6"!3! ����!��64�
 ������4� 2[���: ��4 u1 > 0, u2 > 0 ��I��4= �� 49��8�

H8!8 ��� �A8�8 E
� �!� 5�� ����� � 68�8A� ?R@� T86 868�4� 7�4;��4= 6 ���D��4�9 �!"� 3
8!5"4 A 4�4 B !E�6��54���86� �������68��94 2[��:�

T89�849� 58! 9���� � 2[��	: f �� (−f), 9
 �!� 549  ������4� 7�� !���7����4� �<!7�D4<
� � ���!� 6!68!��4� 7�4;��4=� "!8!�!�� "�" ��8� 7�!  E�748A6�� 49�B8 ��I��4� �6�37�� 8! �68A
��4 �BE
< Qj (j = 1, 3)! U�"49 !E���!9� ��4 �
�!����44  6�!�4= 2[�[:� 2[��: ��4<!7 8���
� � ���!� 6!68!��4� !���5��8 4 �!�� B �3! !68��!�" � �6�4 ;� 2[�[:� 2[��: �� �
�!����
� 8!
�!��!= !68��!�"4 �� ��!46<!748 � 8�"!= 648 �K44�

>�669!8�49 7���� 6� 5�= β �= 0 (h �= 0). � 68A 8��! 6499�8�45�!�� 8! �68A l1 = l. U!37�
 ������4� 2[�S: ��49 8 �47

Q1 = cos α1

(
u1 + fNA + fNB

u1

u2

)
,

Q2 = sin α1

(
fNA +

1
2
ε1u1

)
+ sin α2

(
fNB +

1
2
ε1u2

)
,

Q3 = sin α1

(
−fNA − 1

2
ε2u1

)
+ sin α2

(
fNB +

1
2
ε2u2

)
,

NA =
1
2
(g + βu1 cos α1), NB =

1
2
(g − βu1 cos α1),

u1 cos α1 = u2 cos α2.

2[���:



XS O��� >!���E��8

�������� �		
� �
�� �

>�669!8�49 ��!68�=I4= 6� 5�=C �6� 9�66� 6"�9�="4 6!6��7!8!5��� � 8!5"� G, 8!37� ε1 =
ε2 = 0 4  ������4� 2[���: 6�!7�86� " 6��7 BD49� TE!���549 NA = x, 8!37� NB = g − x,
x ∈ (0, g). �6"�B5�� 4� 2[���: α1 4 α2, �!� 549 8�4  ������4�

a2

f2(g − x)2
+

(
2x − g

βu2

)2

= 1,

b2

f2x2
+

(
2x − g

βu1

)2

= 1,

Q1 =
2x − g

β

(
1 +

fx

u1
+

f(g − x)
u2

)
,

37� a =
Q2 + Q3

2
, b =

Q2 − Q3

2
, u1 > 0, u2 > 0, x ∈ (0, g).

V�� !3���45��4� !ED�!684 E 7�9 6548�8A Q1 > 0, 8!37� 7!�;�! E
8A 2x − g > 0, 8! �68A

x ∈
(g

2
, g

)
. �� �!� 5���
< 6!!8�!I��4= 49��9 !7�!  ������4�

Q1 =
2x − g

β
+

√
f2x2 − b2 +

√
f2(g − x)2 − a2, x ∈

(g

2
, g

)
. 2[���:

�6"!9!� 7�4;��4� ����4� �86� 8!37� 4 8!�A"! 8!37�� "!37�  ������4� 2[���: 49��8 ��I��4�

��4 x ∈
(g

2
, g

)
.

TE!���549 5���� ψ(x) W J �"K4B � ����!= 5�684  ������4� 2[���:C

ψ(x) =
2x − g

β
+

√
f2x2 − b2 +

√
f2(g − x)2 − a2. 2[��[:

TE��68A !���7����4� J �"K44 ψ(x) 4� 2[��[: �68A !8���!"

g

2
� x � x∗ = g − a

f
. 2[���:

�D�9 9�"649 9 4 94�49 9 J �"K44 ψ(x) �� !8���"� 2[���:� �9��9

ψ′
x =

2
β

+
f2x√

f2x2 − b2
− f2(g − x)√

f2(g − x)2 − a2
, 2[��S:

ψ′′
xx = −

(
f4b2√

(f2x2 − b2)3
+

f4a2√
(f2(g − x)2 − a2)3

)
< 0. 2[��R:

� 64� �������68�� 2[��R: J �"K4� ψ(x) �����86� �
� "�!= "���< � 8! �68A !�� 49��8
�74�68����
= 9�"649 9� "!8!�
= ��<!7486� 4� ��I��4�  ������4� ψ′(x) = 0, � 94�49 9
7!6843��86� �� "!�K�< !8���"� 2[���:� >��E���9 7�� 6� 5���

�� �������4� ψ′(x) = 0 �� 49��8 "!���= �� 4�8������
[g

2
, x∗

]
. ��� �8!3! � 64� 9!�!8!�G

�!3!  E
���4� J �"K44 ψ′(x) 7!�;�! �
�!���8A6� �������68�!

ψ′(x)|x= g
2

< 0,

8� ��

2
β

+
f2g

2

⎛
⎜⎜⎝ 1√

f2g2

4
− b2

− 1√
f2g2

4
− a2

⎞
⎟⎟⎠ < 0



� �!68��!�"� ��7�5 � 74��94"� XR

�������� �		
� �
�� �

4�4 8�"C

2
β

+ f2g

(
1√

f2g2 − 4b2
− 1√

f2g2 − 4a2

)
< 0. 2[��X:

U!37� 9�"649 9 4 94�49 9 ψ(x) 7!6843�B86� �� "!�K�< !8���"� 2[���:C

max ψ(x) = max {ψ
(g

2

)
, ψ(x∗)},

min ψ(x) = min {ψ
(g

2

)
, ψ(x∗)}.

%� �������4� ψ′(x) = 0 49��8 "!���A x = x∗∗ �� 4�8������
[g

2
, x∗

]
. ��� �8!3! 7!�;�!

�
�!���8A6� �������68�!� ��!84�!�!�!;�!� �������68� 2[��X:� \6�!� 58! "!���A x∗∗ W �74�G
68����
= 4 �6�37� 6 D�68� �8� 8�" "�" ψ′(x)|x=x∗ = −∞! U!37� 49��9

max ψ(x) = ψ(x∗∗),

min ψ(x) = min {ψ
(g

2

)
, ψ(x∗)}.

�8�"� 9
 �!� 549 6��7 BD4= ��� �A8�8�
� �" 4+ 5� ,����	��� �� ��
�
��� �����	��	 �
�����	 ������
��� ����� � ��
��� ���

���� �����

Q1 ∈ [ψ1, ψ2],

��� ψ1 = min {ψ
(g

2

)
, ψ(x∗)}, x∗ = g − a

2f

ψ2 =

{
max {ψ

(g

2

)
, ψ(x∗)}, ��� 
���
����� 2[��X:,

ψ(x∗∗), ��� ��
���
����� 2[��X:,

��� x∗∗ - ������ ���
����	 ψ′(x) = 0, x ∈
(g

2
, x∗

)
�

ψ
(g

2

)
=

1
2

(√
f2g2 − 4b2 +

√
f2g2 − 4a2

)
,

ψ(x∗) =
1
β

(
g − a

f

)
+

√
f2

(
g − a

f

)2

− b2.

�+4 3+�# 5� �6�!�4� 68�845�6"!3! ����!��64� 49��8 �47 269� �������68�! 2[�[::

0 < Q1 < ψ
(g

2

)
,

�!�8!9 � �84<  6�!�4�< 8�!��9� 7��8� 58! 7!�!��48��A�!� 7�4;��4� 6 D�68� �8 �4IA 8!37��
"!37�

ψ(x∗) < ψ
(g

2

)
, ψ(x∗) < Q1 < ψ

(g

2

)
.

�+4 3+�# ;� �6�4 Q1 > ψ2, 8! 6!3��6�! 8�!��9�� 7�4;��4= 6! 6"!�A;��4�94 � 8!5"� A
4 B, 46<!7�D4< 4� � ���!3! 6!68!��4�� �� 6 D�68� �8� �6�4 �������68�� 2[��: 6!E�B7��
� 8!
������4� �9
 8�";� 4 ���D��4� �!"� 3 8!5"4 A 4�4 B � ^4�45�6"4= 69
6� 8�"!3! �JJ�"8�
��"�B5��86� � 8!9� 58! ��4 E!�AI4< Q1 9!;�8 !6 D�68���8A6� 8!�A"! 7�4;��4� 6 !8�
�!9
!7�!= 4� !�!�� "!8!�
� 9
 �7�6A �� ��669�8�4���9�
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aN IWXVU^NS bTVUI IWXINcPV [WS VNPPUXd PYN cSWbON`V W[ `WPUWX W[ T SUdU^ bW^Z eUPY IWXVPSTUXPV �eUPY TX^
eUPYWfP ^SZ [SUIPUWX�� KYN `TUX TIINXP UV cOTIN^ fcWX PYN cSNYUVPWSZ W[ UXUPUTO IWX^UPUWX W[ T cSWbON`V�
eYUIY VYWfO^ bN [WS`fOTPN^ UX T IWSSNIP `TXXNS eYUIY eWfO^ XWP SNgfUSN UXPSW^fIUXd T^^UPUWXTO YZcWPYNVUV
TX^ TVVf`cPUWXV eYUIY `ThN WXN PW ONTiN PYN [ST`NV W[ PYN SUdU^ bW^Z ^ZXT`UIV eUPYWfP U`cTIPV� aUPY
VfIY IWSSNIP [WS`fOTPUWX� PYN ^ZXT`UIV W[ `WPUWX �WS NgfUOUbSUf`� W[ SUdU^ bW^UNV ITX bN ^NVISUbN^ eUPYWfP
WIIfSNXIN W[ VW`N cTST^WjUI VUPfTPUWXV �kTUXONilN cTST^WjNV�� KYN cSNVNXPN^ `NPYW^WOWdZ UV UOOfVPSTPN^ bZ
PYSNN eNOO!hXWeX cSWbON`V UX `NIYTXUIV) 5� SUdU^ bW^Z eUPY T VUXdON IWXPTIP cWUXP eUPY T VfS[TIN UX PYN
cSNVNXIN W[ ^SZ [SUIPUWX� >� VOU^UXd bTS UX PYN VOU^UXd eTZV eUPY ^SZ [SUIPUWX� <� SUdU^ bW^Z eUPY PeW cWUXP
IWXPTIP UX PYN cSNVNXIN W[ ^SZ [SUIPUWX �mbNXIYn��

��
�����) VZVPN` eUPY IWXVPSTUXPV� ^SZ [SUIPUWX� kTUXONilN cTST^WjNV
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